
Supplementary Materials for “Latent Class Dynamic

Mediation Model with Application to Smoking

Cessation Data”

1. Conditional posterior distributions for the MCMC algorithm

We first define some notations.

Yi = (Yi1, Yi2, ..., YiT )′, Xi = (Xi1, Xi2, ..., XiT )′, Mi = (Mi1,Mi2, ...,MiT )′

ξ = (ξ1, ...ξi, ..., ξN)′, ζ = (ζ1, ...ζi, ..., ζN)′

al = (a0l, a1l, a2l)
′, a = (a′1,a

′
2, ...,a

′
L)′

bl = (b0l, b1l, b2l)
′, b = (b′1, b

′
2, ..., b

′
L)′

cl = (c0l, c1l, c2l)
′, c = (c′1, c

′
2, ..., c

′
L)′

dl = (d0l, d1l, d2l)
′, d = (d′1,d

′
2, ...,d

′
L)′

el = (e0l, e1l, e2l)
′, e = (e′1, e

′
2, ..., e

′
L)′

φl = (φ1l, φ2l, ..., φKl)
′, φ = (φ′1,φ

′
2, ...,φ

′
L)′

ϕl = (ϕ1l, ϕ2l, ..., ϕKl)
′, ϕ = (ϕ′1,ϕ

′
2, ...,ϕ

′
L)′

χl = (χ1l, χ2l, ..., χKl)
′, χ = (χ′1,χ

′
2, ...,χ

′
L)′

ψl = (ψ1l, ψ2l, ..., ψKl)
′, ψ = (ψ′1,ψ

′
2, ...,ψ

′
L)′

$l = ($1l, $2l, ..., $Kl)
′, $ = ($′1,$

′
2, ...,$

′
L)′

Σ = (σ2
ξ1, σ

2
ξ2, ..., σ

2
ξL, σ

2
ζ1, σ

2
ζ2, ..., σ

2
ζL, σ

2
11, σ

2
12, ..., σ

2
1L, σ

2
21, σ

2
22, ..., σ

2
2L, σ

2
φ, σ

2
ϕ, σ

2
χ, σ

2
ψ, σ

2
$)′

ω = (ω01, ..., ω0(L−1), ω1, ..., ωp)
′
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